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LEP A== 25,176,536 8,834,551 16,341,985
= 5,000,000 0 5,000,000
= 500,000 0 500,000
[= 1,510,500 0 1,510,500
2 18,166,036 8,834,551 9,331,485
HAXRMY A 11,818,021 4,248,101 7,569,920
[= 10,000 0 10,000
2 11,808,021 4,248,101 7,559,920
LKA 4 L 22 11,818,021 4,248,101 7,569,920
[ 10,000 0 10,000
2 11,808,021 4,248,101 7,559,920
HexS a2z 1,531,900 99,000 1,432,900
301 Yt A2 25,000 13,000 12,000
06 2I2t0I 2| 04 H 12,000 0 12,000
O (8HXHIIgol X oY &&= dX 0}
2 3,000,0008 * 49! 12,000 0 12,000
401 AlEHIZ =20yl 530,000 0 530,000
01 A& H| 530,000 0 530,000
O HSXRHE A=A 22 A AL HYI
30,000,0002 * 14! 30,000 0 30,000
O HLX=HE =2, Hetdl &H S A
500,000,000 * 14l 500,000 0 500,000
405 KHabE S| 890,900 0 890,900
01 IHAtY 2 E F SH 890,900 0 890,900
O XM HA=s42S HE 0
890,900,00081 * 14l 890,900 0 890,900
Hexsad 28 204,000 139,000 65,000
[ 10,000 0 10,000
2 194,000 139,000 55,000
201 Yt 201,000 136,000 65,000
[ 10,000 0 10,000
2 191,000 136,000 55,000
03 A2 80,000 15,000 65,000
O NLXS L HLHOIQAY Z2 izl
65,000,000 * 1Al 65,000 0 65,000
= 10,000 0 10,000
2 55,000 0 55,000
HLXRHE HE 562,600 11,900 550,700
201 Y2 62,600 11,900 50,700
01 AFR 22| H 62,600 11,900 50,700
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50,700,0002 * 1Al 50,700 0 50,700
207 &R IH 2| 500,000 0 500,000
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401 Al HI K 201 8,561,320 3,400,000 5,161,320
01 A& HI 8,561,320 3,400,000 5,161,320
O HEXNFHAE HE (MM FIH2)
4,629,000,000& = 14 4,629,000 0 4,629,000
O EXIHY (22 X) 532,320,000 = 14 532,320 0 532,320
AN GHYXF MEHAH DL (HEAY) 335,000 0 335,000
401 A& HIZ 201 Y| 335,000 0 335,000
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O gzl =24
2 & 100,000,000& * 1& A 100,000 80,000 20,000
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NALHMEXE 2 AGAY 3,477,540 2,297,540 1,180,000
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NALHETEL AIHAS (AEE 22]) 501,940 264,940 237,000
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02 =224l 38,360 28,360 10,000
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20,000,000 * 14| 20,000 0 20,000
O JISXRME FII Y 5,000,008 * 14 5,000 0 5,000
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20,000,008 * 14 20,000 0 20,000
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150,000, 0008 * 141 150,000 0 150,000
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s 500,000 0 500,000
= 1,500,500 0 1,500,500
2 1,848,940 1,462,440 386,500
HgsaMtY S5 2 22 8,849,440 1,462,440 7,387,000
2 5,000,000 0 5,000,000
s 500,000 0 500,000
= 1,500,500 0 1,500,500
2 1,848,940 1,462,440 386,500
HYHOI 24 S 1,219,440 832,440 387,000
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2 1,218,940 832,440 386,500
207 & o) bl 100,000 0 100,000
NEEEETT 100,000 0 100,000
O BhE% HiolA s NYMEH Jl=He +
g 50,000,000 * 141 50,000 0 50,000
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HER BHLT 25 MaAE 7S 7,000,000 0 7,000,000
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= 5,000, 000 0 5,000,000
s 500,000 0 500,000
< 1,500,000 0 1,500,000
401 N EHIL 2T 7,000,000 0 7,000,000
2 5,000,000 0 5,000,000
s 500,000 0 500,000
< 1,500,000 0 1,500,000
01 Al bl 7,000,000 0 7,000,000
O HER BHAT AF - H4AE 75
7,000,000,0008 * 14} 7,000,000 0 7,000,000
2 5,000,000 0 5,000,000
s 500,000 0 500,000
< 1,500,000 0 1,500,000
HHSHBY (AL RS L) 224,995 256,930 £31,935
oz 2 gyl 87,477 119,412 £31,935
ol (HYX RS L) 87,477 119,412 £31,935
101 @121l 87,477 119,412 £31,935
N 84,012 114,562 230,550
O 2n224Y 84,012 114,562 30,550
* 63
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